Teopusa co3gaHun
N NPaKTUKA
NPUMeHeHUs
TeCTOB Ha ypoKax
MHOCTPAHHOrIo
A3blKa



AKMYyarbHOCMb JAHHOTO
MCCJICIOBaHMUS 00yCIOBJICHA
HEOOXOIMMOCThIO N3YUECHUS BCEX
ACIICKTOB KOHCTPYMPOBAHMS U
IPUMEHECHHUS TECTOBBIX METOJIHK B
[[EJIOCTHOM IIEIArorn4eCcKomM
IIPOLIECCE B 3aBUCUMOCTH OT LICJIEH U
3a]1a4 OOy4CHHUSI.



ITeab JunaomHou pabomwl:
M3yYUTh BO3MOKHOCTH U

YPPEeKTUBHOCTH
[IPUMEHEHUS TECTUPOBAHUS
Ha 3aHgTusaXx mo Ud



Jadauu:

v/ H3yunth NOCUXOJOrO-meJaroruiyecKyrd M Hay4dHO-
METOIUYECKYIO JIMTEPATYPY I10 MCIIOJIb30BAHUIO TECTOB B
LIEJIOCTHOM IIE€AArOru4eCKOM IIPOIECCE;

¢/ BbIsIBUTH OCHOBHBIE KPUTEPHUH COCTABJICHUS TECTOBBIX
3aJIaHUU;

¢/ DBbUIBUTHL  TIOJIOKUTEIBHBIE W OTPULIATEIILHBIE
XapaKTEPUCTUKH TECTOB, UCIIOJIb3YEMBIX Ha ypokax M A;

v/ Onucare CTaHIAPTU3UPOBAHHBIC TECTHI, TAaKHE KakK
TOEFL wu IELTS, HamnpaBieHHbIE Ha KOHTPOJb
C(OOPMHUPOBAHHOCTH SI3BIKOBBIX HABBIKOB M PEYEBBIX
yMeHUI B oonactu M A;

v/ Co31aTh HECKOJIBKO TECTOB HAa OCHOBE CTPYKTYPHI
TOEFL.



Oo0evexm uccaedosaHun:

TECT, Kak (popma 0Oy4eHUS U
KOHTPOJISL B LICJIOCTHOM
eJ1arorundeckom npoiecce.



IIpedmem uccaedosaHuA:

[IPUMEHEHUE PA3JTUYHBIX
TE€CTOBBIX METOAUK Ha
ypokax mo K.



TI'unome3s3a:

CucremaTudyeckoe u
IeJieHalnpaBJdeHHOe
NCIIOJIb30BaHHUE TECTOBBIX
METOJUK B KauecTBe (POPMbI
ANArHOCTHUKHN, OOyUeHUA U
KOHTPOJIA HA PAAY C APYTrUMU
dopMmamMm MO3BOJIAIOT IIOBBICUTH
KavecTBO 00yueHnusn M.



Tecm
(OoT aHII. test — HCIIbITAHUE,
IIPOBEPKA) — CTaHAAPTU3UPOBAHHAS
IpoLeaypa N3MEPEHUS,
O3BOJISIONIAS OIIPEICINTDh CTCIICHD
BBIPAXKCHHOCTH Y MHJAMBH A TEX WU
MHBIX XapaKTEPUCTHUK, CBOVCTB,
CIIOCOOHOCTEH.



Kaaccudpuxkauus mecmoa:

v’ 1o npouedype co3o0aHusi:
cmaHoapmu3o08aHHble, HecmaHOapmu308aHHbIE

v’ 1o cpedcmeam rnpedbsierieHUsI:
briaHkosble, ripedMemHble, arrnapamypHbIe,
rpakmu4yeckue, KOMrbtomepHbIe

v’ [1lo cmeneHU 0OHOPOOHOCMU 3a0ay:
20MO2EHHbIE, 26MepPO2EHHbIE

v’ 1o HanpassieHHOCMU mecmoabix 3adaHuu:
OUCKpemHsble, ariobaribHbie

v 1o cneyuanu3auuu:

WUPOKOOPUEHMUPOBAHHbIE,
Y3KOOPUEHMUPOBaHHbIE

v/ 1o gpopme:
mecmabl 3aKpbImMo20 mura, mecmasl OMKPbLIMO20
TNa




DdynHxuuu mecmossvix 3a0aHuil:

v’ obyyarouwas;

v/ yripasreHyeckas;

¢/ cobcmeeHHO KOHMpoupyruwas;
¢/ OuazHoCcmMu4yecKas;

v/ KOPPEKMUPOBOYHAST;

v/ CmuMynupyroue-
Momusupyrouwjas;

v OUEHOYHaHs:
&/ 8ocriumabiearoulas;
v/ passusarouwjas.



IELTS — International
English Language Testing
System

TOEFL — Test of English
as a Foreign Language



OueHka ypoeHa éaadeHUsl mecmosbvimu
MemoouKamu Yyuawumuca Ha OCHOBe
pe3yavmamos 6eceowvl

Kiaacce KoaunvecTBo YpoBeHb BJIaIeHUSA
y4auuxcst TeCTOBLIMU METOAUKAMM
(0ecema)

BbICOKMH CpPeIHUH HHU3KUH

10 12 8% 32% 60%
OI'H



Listening Section

1. What does the woman need?
A) A meeting with Professor Simpson.

B) An English composition class.

C) An appointment for tutoring.

D) Information about the Learning Center.



Structure and Written Expression

IlepBbIi BUI
Mint contains aromatic oils ......... , Stems, and roots.
A) its leaves
B) 1n its leaves
C) are in 1ts leaves

D) they are 1n its leaves

Bropou Buja
If a baby bird stays alive for two or three weeks after leaving the
A B
nest, 1t has a fair chance of becomes an adult.
C D




Reading Comprehension

I went to public school, and because of my total lack of interest and
nonattendance [ was asked to leave. I didn't want to go there in the first
place. I was taken away from all my friends. He must have been very
pleased to get me into the school, but in the end 1t was a complete waste of
money. I let him down quite badly. I tried several jobs but I couldn't settle
down 1n them. They just weren't challenging enough. Then I realized that
what I really wanted to do was live in the country and look after animals, so
that's what I now do.

1. Why did Amy leave school?
A) She didn't want to go there.
B) Her father didn't want her to go there.
C) Her friends didn't want her to go there.
D) Her husband didn't want her to go there.



Writing Section

""Jet Streams'’

The jet stream is an irregular band of wind that occurs in high altitudes at about 20,000 feet, that is,

between 6 and 9 miles above the surface of the Earth. Consequently, the jet stream wanders near the
top of the Earth's troposphere, and, coincidentally, that is exactly where most of the Earth's weather
patterns occur. It is helpful to think of the jet stream like a river of air that occurs at several different
locations, but in general flows from west to east over the middle latitudes. Technically, to be called a
jet stream, the winds should be moving faster than 57 miles an hour, but it can have average core
speeds of 190 miles per hour, and in the winter, when the jet stream is strongest, winds have been
clocked at 300 miles an hour. For the most part, the winds are stronger in the winter because during
the winter months the surface temperature contrasts more with the temperature in the troposphere.
To put that another way, the greater the contrast in the temperature of the Earth and the atmosphere,
the stronger the jet stream winds will blow.

In general, there are two jet streams between the equator and the North Pole. The subtropical jet stream

tends to hover around the southern border of the continental United States, whereas the polar jet
stream blows over Idaho and Montana. The condition that causes these two streams is the difference
in the temperature between the tropic and the arctic regions of the Earth, which tends to concentrate
in small zones called fronts. It is along these fronts that storms tend to develop. The jet streams blow
the storms along their path. When the jet stream is over an area, strong storms may move into it, but
when the jet stream has dipped out of the area, calm, dry weather will probably be forecast.

Question
Describe jet streams by using information in the reading, and give your opinion

about such a problem.



IlIkaaa oueHusaHun
pe3yasmamose mecma

Cekuus HauBbicwiun 6ann
Listening Section 10
Structure and Written 25
Expression

Reading Comprehension 15
Writing Section 10

Hmoeo: 60



“5” — 53-60 0AJIJIOB
“4” — 42-52 6aJ1JIOB
“3” — 30-41 0AJJIOB

“2” — MeHee 30 0aJIJIOB



Pe3yavmamuvt 6xo0H020 mecma
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Kauecmeo — 42% Ycnesaemocemuv — 100%



Pe3yasmamuvlt umoz208020 mecma
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Kauecemeo — 67% Ycnesaemocmuv — 100%



CpaeHeHue pe3yabmamoas
8X00HO020 U UMo2068020 mecmoas (6 oueHxkax)
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CpaeHeHue pe3yavmamoas

6X00HO020 U UIMM02068020 Mecmos (8 npoueHmax)
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Cnacuoo 3a
SHuManHue!




